COGRAFYA-SOSYAL BILGILER (iNGILiZCE-TURKCE DILINDE) OGRETMENI - (GOOD)
Yarigsma Sinavi

A

1 Which of the following is not a constituent of soil?

air

mineral matter

humus

mo o © >

)
)
) living organisms
)
)

marl

2 Leaching of the positively charged minerals such
as sodium, calcium and potassium, found in soil is
caused by much rainfall. Which of the following
statements best explains this process?

A) These minerals are replaced by nitrogen atoms
increasing the fertility of soil.

B) These minerals are replaced by carbon atoms
increasing the fertility of soil.

C) These minerals are replaced by oxygen atoms
increasing the acidity of soil.

D) These minerals are replaced by hydrogen atoms
increasing the acidity of soil.

E) These minerals are replaced by hydrogen atoms
increasing the fertility of soil.

A

Which of the following statements best describe
the movement of air around a cyclone in the
northern hemisphere?

A) Wind blow directly in towards the centre of the
cyclone

B) Winds blow directly out from the centre of the
cyclone

C) Winds blow in an anti-clockwise direction out
from the centre

D) Winds blow in a clockwise direction out from the
centre

E) Winds blow in an anti-clockwise direction towards
the centre

Which of the following types of mass movement
takes place slowly?

A) Sliding

B) Slumping
C) Soil Creep
D) Mudflow
E) Rock fall

A multi-purpose river development project may
involve all of the following except:

A) River navigation
B) HEP production
C) River pollution
D) Flood control

E) TIrrigation projects
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Plants which have developed special water storage

organs or which can survive long periods of
drought are common in the following regions
except;

A) Temperate grasslands
B) Mediterranean

C) Hot deserts

D) Savanna

E) Tropical grasslands

Which of the following is a soft engineering
method, used for flood control?

A) Construction of dams and reservoirs
B) Building of spillway channels

C) Afforestation

D) Construction of river embankments
E) Deforestation

Which of the following rock types has distinctive
underground features?

A) Sandstone
B) Chalk

C) Limestone
D) Granite
E) Gypsum

10

11

12

A

Which of the following is a pull factor of rural-
urban migration?

A) Services found in the cities

B) Land ownership and landlordism
C) Unemployment in the cities

D) Land division

E) Mechanization of agriculture

Rivers work can be described as erosion,
transportation and deposition. Which of the
following is not a kind of river transportation?

A) Abrasion
B) Suspension
C) Solution
D) Saltation
E) Traction

Forestry and mining are part of the;

Secondary industry
Quaternary industry

A)
B)
C) Tertiary industry
D) Primary industry
E)

Manufacturing industry

The production of electrical and electronic goods

can be explained by all of the following except;

Heavy industry
Light industry

Hi-tech industry

mo o W >

)
)
) Foot loose industry
)
)

Manufacturing industry
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13 The climate type with the greatest diurnal range in

temperature is:

A) Tropical Desert

B) Monsoon

C) Temperate Maritime

D) Tropical Equatorial

E) Cool Temperate Interior

14 ‘Which of the following is not an advantage of
having multi-national firms in a Low Income
Country?

A) They bring in know-how

B) They help to "export" profits

C) They bring in new technology

D) They provide employment

E) They help improve the infrastructure

15 Coastlines are affected by waves, currents and
tides. Which of the following is not a feature of
wave erosion?

Spit
Wave cut platform
Arch

16

17

18

A

Low income countries need aid for development.
Which of the following types of aid is provided
through an organization rather than directly by
the donor country?

A) Tied aid

B) Voluntary aid
C) Multi-lateral aid
D) Bi-lateral aid
E) Emergency aid

Which of the following is not a result of
deforestation of a drainage basin?

A) Infiltration decreases

B) Interception decreases
C) Surface run-off decreases
D) Soil erosion increases

E) River discharge increases

Soil erosion which is a major global problem, can
be reduced by spreading dried grass over soil.
This method is known as:

Contour ploughing
Terracing
Afforestation
Mulching

A)
B)
C)
D)
E) Strip cropping
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19 The rapid increase in the world's population is E 22 Which of the following is not a factor affecting the
mainly due to a decrease in the death rates. Which !  British type of climate?
of the following continents has the fastest rate of |
increase in the population? v A) Westerly Winds
A) Africa : North Atlantic Drift
B + C) Frontal Systems
) North America | .
C) A + D) Anticyclones
sia v E) Trade Winds
D) South America
E) Europe
' 23 Which of the following climate regions has
precipitation only in winter?
20 A population pyramid with a wide apex and
narrow base indicates a population: A) Desert climate
B . .
A) with high birth rate but low death rate c )) Mediterrancan f:l.lmate‘
B) with low birth rate but high death rate Temperate marl'tune'chmailte
c C . . D) Cool temperate interior climate
) which is increasing rapidly E) Cold temperate interior climat
D) with high birth and death rates . 01¢ temperate Interior ciimate
E) with low birth and death rates i
24 Climate change and global warming are the
. S . ' global issues that were considered by the Kyoto
21 Rapid urbanization is a major problem of Low i Protocol of 1997. Although the targets for carbon
Income Countries. Which of the followingisnota |  gjoxide emissions are not reached , a further
consequence of rapid urbanization? i meeting has been held in ........... in 2010;
[}
[}
A) Rural-urban migration L A) Copenhagen, Denmark
B) Development of shanty towns i B) Brussels, Belgium
C) Increased unemployment rates | C) Paris. France
D) Congestion of urban areas i D) Zurich. Switzerland
E) Increased pollution i E) Rio-de Janeiro, Brazil
[}
[}
Sinav : COGRAFYA-SOSYAL BILGILER (INGILIZCE-TURKGE DILINDE) OGRETMENI - (GOOD)
Tarih : 14/08/2010
Saat: 12:30:00 KHK B.i.M. 4



25

26

27

COGRAFYA-SOSYAL BILGILER (iNGILiZCE-TURKCE DILINDE) OGRETMENI - (GOOD)
Yarigsma Sinavi

A

Which of the following is an example of invisible
trade?

International tourism

A)
B) Selling manufactured cars to another country
C) Selling goods within a country

D) Selling raw materials to another country

E) Selling petroleum to another country

Large cities in the Low Income Countries have
land use models which are different to the models
of Hoyt and Burgess in that:

A) They have high cost housing next to greenfield
areas

They have shanty towns at their outskirts
They have more than one CBD

B
C
D) They have slums in the inner city zone
E

)
)
)
) They have both concentric and sectoral
characteristics

Desertification is a major problem especially in the

Sahel of Africa. Which of the following is not a
main cause of desertification?

Over cultivation

A)
B) Overgrazing
C) Fires

D) Droughts
E)

Pollution

28

29

30

A

Which of the following best describes market
gardening in the Netherlands?

It is an example of cash cropping

A)
B) it is an intensive, commercial type of farming
C) It is an extensive, commercial type of farming
D) It is an intensive, subsistence type of farming

E) it is an extensive, subsistence type of farming

Hydrological Cycle explains the movement of
water between air, land and oceans. Which of the
following is not a process of the hydrological
cycle?

Interception

A)
B) Hydration
C) Evaporation
D) Condensation
E) Infiltration

According to the Plate Tectonics theory earth's
crust is made up of plates which are slowly but
continuously moving. The kind of movement and
plate margin that are seen around the
Mediterranean Sea are:

A) Parting plates / Constructive plate margin
B) Colliding plates / Constructive plate margin
C) Colliding plates / Destructive plate margin
D) Sliding plates / Conservative plate margin
E)

Parting plates / Destructive plate margin
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34 Which of the following is not a market oriented
industry?

31 Informal sector employs a considerable
proportion of the working population in the Low
Income Countries. Which of the following is not a

characteristic of this sector? Brick manufacturing

Food processing

A)
B)
A) People in this sector pay no tax C) Production of b
roduction of brewages
D)
E)

B) 1t is insecure

. ) . Motor-vehicle manufacturing
C) It involves jobs such as shoe-polishing and street

traders

D) Itis illegal
E) It involves fixed working hours.

Chemical industry

35 River floods are often seen in urban areas
because:

32 Which of the following is not a renewable source Surface run-off increases

o .
of energy? Base flow increases

Geo-thermal power .
Through flow increases

A)
B)
C) Permeability increases
D)
Solar power E)

Infiltration increases

A)

B)

C) Nuclear power

D) Hydro-electric power i

E) Bio-gas

36 Weathering is the main process in the formation of
soil. Which of the following is not a type of

weathering?

33 Pyramidal peak, Arete, Cirque are features

formed by: Frost shattering

A)
. B) Exfoliation
Coastal erosion )
C) Leaching
D)
E)

River erosion .
Carbonation

Hydrolysis

A)

B)

C) Glacial deposition
D) Glacial erosion

E)

Faulting
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Volcanic activities and earthquakes are caused by
the movement of plates. Which of the following
features is the result of intrusive volcanic activity?

Composite volcano

A)
B) Crater lake
C) Shield volcano
D) Caldera

E) Batholith

Rift valleys are formed by faulting. The largest rift
valley of the world is in:

Turkey

South America

A)
B)
C) Russia
D) Africa
E) USA

Which of the following is not a characteristic of
CBD

It has a high density of buildings
It is made up of high rise buildings
It is the city centre

A)
B)
C)
D) It has large greenfield areas
E)

It has concentration of shops and offices

Which of the following types of soil is seen on
limestone in the Mediterranean region?

Podzol
Terra Rosa

Chestnut

A)
B)
C)
D) Chernozem
E)

Tundra

A

41 Asagidakilerden hangisi yurttaslarin Sosyal
Haklarindan degildir?

A) Konut Hakki

B) Calisma ve Dinlenme Hakk1
C) Egitim ve Ogretim Hakki

D) Saglik Hakki

E) Ozel Hayatin Gizliligi Hakk1

42 Asagidakilerden hangisi biitiin yetkileri

kendisinde toplar?

A) Yiiksek Idare Mahkemesi
B) Askeri Yargitay

C) Tiirk Ceza Kanunu

D) Anayasa

E) Cumhuriyet Meclisi

43 Asagidakilerden hangisi Insan Haklarinin temel

ozelliklerinden degildir?

A) Evrensel nitelik tasirlar.

B) Ulkeden iilkeye degisirler.

C) Devredilmez haklardur.

D) Insan Haklar bir biitiindiir.

E) Insanin kendi olanaklarindan kaynaklanir.

44 Diinya barisina egitim, Kiiltiir ve bilim yoluyla

katkida bulunan kurulus asagidakilerden
hangisidir?

) Who

) Unicef
) Nato

) Fao

)

mo o W >

Unesco
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A

45 Feodal Siyasi Orgiitlenmede, topragin asil sahibi

kimdir?

A) Derebeyi

B) Burjuvazi
C) Koylii

D) Vassal

E) Din Adamlar

- Yasamak, ozgiirliik, kisi dokunulmazhg
herkesin hakkidir.

- Herkes kanun karsisinda esittir.

- Aile toplumun temel unsurudur.

10 Aralik,1948'de ilan edilen ve yukarida baz
onemli maddeleri belirtilen belge hangisidir?

A) Manga Carta Libertatum

B) Amerika Bagimsizlik Bildirgesi

C) Insan Haklar1 Evrensel Bildirgesi

D) Fransiz Insan ve Yurttag Haklar1 Bildirgesi
E) Ingiltere Haklar Bildirgesi

Asagidakilerden hangisi Cumhurbaskam adaylari

icin aramilan nitelikler icin yanhstir?

A) Yiiksek 0grenim yapmis olmak

B) En az 3 yildan beri daimi ikametgahi Kibris'ta
bulunmus olmak

C) 35 yasim doldurmus olmak

D) Tiirk ana ve babadan dogmus olmak

E) Milletvekili secilme yeterliligine sahip olmak

48
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A

Yerel ve genel secimler kac yilda bir yapilir?

3-4
3-5
4-5
Her ikisi de 5
Her ikisi de 4

mooOo © >

)
)
)
)
)

Belirli bir amac icin gereken bilgileri verme isine

ne denir?
YOnetim

Egitim

Ogretim
Orgiitlenme

moo o >

)
)
) Ogrenim
)
)

En ilkel ve en gelismis siyasi teskilatlanma cifti
asagidakilerden hangisidir?

Krallik - Demokrasi

Klan - Imparatorluk

A)
B)
C) Monarsi - Imparatorluk
D) Klan - Demokrasi

E)

Monarsi - Demokrasi
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17. Yiiz y1l baslarinda insa edilmistir. Bina
semahane, tiirbe, dervis ve misafir odalari ile
mutfak boliimlerinden olusmaktadir. Tiirbelerde
16 seyhin mezarlan vardir. Uzerinde, ''Ya Hazreti
Mevlana' yazisi bulunan giris kapisinin yaninda
bir cesme mevcuttur. 1963 yilinda miizeye
doniistiiriilen bu tekkenin adi nedir?

Cambulat Tiirbesi

A)
B) Hz. Omer Tekkesi
C) Hala Sultan Tekkesi
D) Mevlevi Tekkesi

E) Higbiri

Kibris'ta 15 Temmuz, 1974 darbesinin
baslamasiyla siramin Tiirkleri imhaya gelecegini
hemen teshis eden anavatanimiz Tiirkiye, Baris
Harekatina gecmeden once, hangi iilkeye, birlikte
hareket etmeyi teklif etmisti?

A) Ingiltere

B) Kibris Cumhuriyeti
C) Yunanistan

D) AB.D.

E) Almanya

21 Aralik 1963 olaylar1 Kibris Cumhuriyetinin
yikilmasina zemin hazirlarken Rum saldirilarina
maruz kalan Kibris Tiirkleri adina yayin yapan
Bayrak Radyosu kuruldu. Zamanla geliserek 19
Temmuz 1976'da Bayrak Radyo Televizyon
Kurumuna déniisen Bayrak Radyosu'nun kurulus
tarihi asagidakilerden hangisidir?

20 Temmuz 1974
25 Aralik 1963
21 Aralik 1963
27 Aralik 1963

A)
B)
C)
D)
E) 16 Agustos 1974

54

55

A

1960 Kibris Cumhuriyetinin kurucu anlasmasina
gore 5 biiyiik sehirde ayri belediyeler kurulacakti.
Asagidaki sehirlerimizden hangisinde ayri
belediye olusturulmayacakt1?

Baf

)

) Limasol
) Lefkosa
) Larnaka
)

mo o © >

Girne

Baris Harekatinin sona ermesiyle sira Giiney
Kibris'ta kalan giivenlik sorunun ¢o6ziilmesine
gelmisti. Bu amacla 31 Temmuz- 2 Agustos 1975
tarihleri arasinda niifus miibadelesi anlasmasi
imzalanarak Kuzey'de kalan Rumlar Giiney'e,
Giineydeki Tiirkler de Kuzey'e gectiler. Birlesmis

Milletler gozetiminde yapilan bu gecisleri saglayan

Niifus Degisimi Antlagsmasi nerede imzalanmstir?
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Kale Liizinyanlar tarafindan insa edilmekle
beraber, tarihi bakimdan daha eskidir. Kaleye
ismini veren din adamu 1ss1z bir yer bulmak
diisiincesiyle Misir'dan Kibris'a gelerek
yerlesmistir. Onun anisim yasatmak amaciyla
Bizanshlar bu bolgeye manastir ve askeri
amaclarla surlar yaptilar. 1974 Baris Harekati
sirasinda Bogaz Sancagi, Yaman Tabur
Komutanhgina bagh idi. Bu stratejik kalenin ismi
asagidakilerden hangisidir?

Girne Kalesi

A)
B) Baf Kalesi

C) Kantara Kalesi

D) Lefkosa Surlari

E) St. Hilarion Kalesi

1960 Kibris Cumhuriyetinin ilanindan sonra
Rumlarin Cumhuriyeti yitkmak ve Kibris
Tiirklerini imha ederek adayr Yunanistan'a
baglamak amaciyla hazirladiklar1 Akritas Planina
kars1 ¢cikmak icin 1963 yilinda yer yiiziine ¢ikan
Tiirk teskilati hangisidir?

A) Karagete

)
) Volkan

) Tiirk Mukavemet Teskilati
) EOKA

)

B
C
D
E) KATAK

A

58 flkcag boyunca Kibris Akdeniz'e egemen olan
biiyiik devletlerin hakimiyetleri altinda

bulunmustur. Bu donemde adada bir¢ok krallik

vardi. Biiyiik Iskender'in Pers ve Misirhlari
yendikten sonra Kibris'a egemen oldugunu

goriiyoruz. iskender doneminde Kibris'ta var olan

krallik sayis1 da 9'dan (Lapta, Girne, Marion,
Salamis, Baf, Tamassos, Amathus, Curium,
Idalion) 2'ye diismiistii.

Kralliklarin birlesmesi ve niifus hareketleri
sonucunda kalan iki krallik asagidaki
ikiliden

hangisidir?

A) Salamis, Baf
B) Girne, Marion
C) Marion, Salamis
D) Lapta, Girne

E) Baf, Amathus
59

kez Tiirk jetlerinin Kibris semalarinda ihtar

amach uctugu tarih asagidakilerden hangisidir?

7 Agustos 1964

27 Aralik 1963
25 Aralik,1963
21 Aralik 1963

A)
B)
C)
D)
E) 20 Temmuz 1974

Kibris Tiirklerinin yalmz olmadig: her donemde
Rumlar'a bir sekilde hatirlatilmistir. Bu destegin
de her zaman Tiirkiyeden geldigi bilinmektedir.
Rum saldirilarinin yogunlastig bir donemde ilk
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60 1963 olaylariyla Kibris Cumhuriyetinden dislanan
Kibris Tiirk toplumu, giiniimiize degin degisik
yonetim sekilleri uygulanstir.

Kibrnis Tiirkii'niin K.T.F.D. sonrasi yonetim sekli
asagidakilerden hangisi olmustur?

Kuzey Kibris Tiirk Cumhuriyeti

A)
B) Genel Komite

C) Otonom Kibris Tiirk Yonetimi
D) Kibris Tiirk Yonetimi

E) Kibris Cumhuriyeti
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